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Paper 1l GAT
Part —-A English

Directions:- In each of the following questions,
choose the alternative which best expresses the
meaning of the word printed in italic bold in the
sentence.
1. He was sad that his seniority had been overlooked.

(a) rejected

(b) neglected

(c) confused

(d) sidestepped

Vanity is often noticeable in a great leader.
(a) desirable

(b) admirable

(c) remarkable

(d) visible

Some of the discoveries of modern science are
simply marvellous.

(a) praiseworthy

(b) commendable

(c) amazing

(d) admirable

Seeing the room in a disorderly state, Ravi
concluded that someone had ransacked the place.
(@) upset

(b) destroyed

(c) searched

(d) attacked

The invasion force had no artillery and was
completely annihilated.

(@) reduced

(b) destroyed

(c) dismembered

(d) split

6. Jawaharlal Nehru was an outstanding personality.
(a) interesting
(b) notorious
(c) admirable
(d) prominent

He corroborated the statement of his brother.
(@) condemned

(b) confirmed

(c) seconded

(d) disproved

8. Tired and weary he returned home last that night.
(a) exhausted
(b) frustrated
(c) lithe
(d) emancipated

9. The committee did not find him fit for the job.
(a) genuine
(b) correct
(c) suitable
(d) selected

. He is in the habit of talking superfluously.
() continuously
(b) needlessly
(c) fluently
(d) authoritatively

Directions : Each of the following questions consists
of a sentence in which one word is italicized. It is

followed by some words. Select the word which is
closest to the opposite in meaning to the italised word.

11. That was a dauntless action!
(a) devious
(b) subtle
(c) secret
(d) cowardly

. People understand speech in the context of their
accumulated experience.
() scattered
(b) dissipated
(c) partial
(d) bias

. Many snakes are innocuous.
(a) poisonous
(b) harmful
(c) deadly
(d) ferocious

. The comely young girl proved to be a good
receptionist.
() inexperienced
(b) unattractive
(c) gloomy
(d) depressed

. We received a cordial welcome from our host.
(@) official
(b) cold
(c) distrustful
(d) indifferent
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16. Pradeep is always jeered at by his companions. 24. To pull strings

(@) praised

(b) scorned
(c) mocked
(d) mourned

. He makes occasional visits to Delhi.
() accidental
(b) strange
(c) regular
(d) frivolous

. The new officer is a brash young man.
(a) polite
(b) arrogant
(c) kind
(d) handsome

. The revised pay scale is uniform.
(@) equal
(b) different
(c) opposite
(d) varied

. His attitude is very hostile.
(a) friendly
(b) kind
(c) humane
(d) helpful

Directions: In each of the following questions,
choose the alternative which best expresses the
meaning of the idiom/phrase printed in bold type.
21. A square peg in a round hole

(@) Animpossible task

(b) A scheme that never works

(c) A person unsuited to the position he fills

(d) None of these

22. To keep the wolf away from the door

(@) To keep away from extreme poverty

(b) To keep off an unwanted and undesirable
person

(c) To keep alive

(d) To hold the difficulties and dangers in check

. In double-quick time
() Steadily

(b) Very quickly

(c) Gradually

(d) Much time

(a) To exert hidden influence
(b) To tease someone

(c) To speed up

(d) To start something

. By fair means or foul

(a) Without using common sense
(b) Without difficulty

(c) Inany way, honest or dishonest
(d) Having been instigated

. To hit the jackpot

(@) Togamble

(b) To get an unexpected victory
(c) To be wealthy

(d) To make money unexpectedly

. A cock-and-bull story

(a) A true story

(b) A children’s story

(c) A story of animals

(d) A foolish and concocted story

. To be a good Samaritan

(@) To be law-abiding

(b) A wise person

(c) Areligious person

(d) A genuinely charitable person

. To set the thames on fire

(a) To do something remarkable
(b) To try to do the impossible
(c) To burn something to ashes
(d) To fling ironical remarks

. To cast pearls before a swine

(@) To offer someone a thing which he cannot
appreciate

(b) To bring something good before the eyes of a
greedy person

(c) To spend recklessly on a useless fellow

(d) To indulge in fruitless endeavours

Directions: (Q. Nos. 31-40) Find errors, if any.

31.

Having resigned (a)/ from his job, (b)/ Mr. Shah
left the town. (c)/ No error (d)

. The article (a)/ should not exceed (b)/ more than

five hundred words. (c)/ No error (d)

. On hearing the news, (a)/ he went directly (b)/ to

the Manager’s room.(c) / No error (d)
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34. | tried on both the dresses (a)/ and finally decided

(b)/ to buy the expensive one. (c)/ No error (d)

35. Rural woman congregated the mud roofs (a)/
when the colourful procession (b)/ passed
through the street. (c)/ No error (d)

. Dresses, Skirts and Children clothing (a)/ are
advertised (b)/ at great reduced prices. (c)/ No
error (d)

. Our chief minister (a)/ left for Russia (b) /
yesterday happily. (c)/ No error (d)

. Put you in my position (a)/ and you will realise
(b)/ the problems faced in my profession. (c)/ No
error (d)

. Every woman in the world (a)/ fervently hopes
that their child (b)/ will be a normal and healthy
baby. (c)/ No error (d)

. There are (a)/ some poetries (b)/ in the book. (c)/
No error (d)

Directions (Q. Nos. 41-50): In each of the following
items in this section consists of a sentence, the parts
of which have been jumbled. These parts have been
labeled as P,Q, R and S. Given below each sentence
are four sequence namely (a), (b), (c) and (d). You are
required to rearrange the jumbled parts of the
sentence and mark your response accordingly.
41. man is one who can lay
(P)
a firm foundation with the bricks a successful
Q) (R)
others have thrown at him
(S)
The correct sequence should be
(@) PQSR
(b) RQSP
(c) RPQS
(d) QSPR

. the prize money for refusing her

(P) Q)
pepsico was ordered to compensate the woman
(R) (S)

The correct sequence should be

(a) RSQP

(b) SPOR

(c) RPSQ

(d) QRSP

43. an earthguake and tsunami

(P)

the disaster mitigation agency
Q)

said that the death toll from
(R)

in Indonesia has crossed 1500
(S)

The correct sequence should be

(@) PQSR

(b) RPSQ

(c) SQRP

(d) QRPS

. Muhammad Igbal
P
the philosophical and religious outlook of people
through his poetry
Q)
Profoundly influenced
(R)
one of the greatest poets of modern India
(S)
The correct sequence should be
(@) QRSP
(b) SRQP
(c) SRPQ
(d) SPRQ

. which is sold for its horn

(P) Q
the Rhinoceros is hunted by poachers
(R)
at high price
S)
The correct sequence should be
(a) SQPR
(b) QRSP
(c) RQPS
(d) QPSR

. quickly he gave orders

(P) (®)
to catch the thief to his men
(R) S

The correct sequence should be
(a) SPRQ

(b) QSRP

(c) PSRQ

(d) RSPQ
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47. the British manufacturer
P)
popularity of Indian textiles
Q)
were jealous of the
(R)
from the very beginning
S)
The correct sequence should be
(a) PQRS
(b) SPOQR
(c) SPRQ
(d) QRSP

. put pressure on their government
P)

Indian goods in England

Q)
the British manufacturers

(R)
to restrict and prohibit

S)

The correct sequence should be
(@) PQRS
(b) SPRQ
(c) RPSQ

51. The maximum value of static friction is called-

(@) Limiting friction

(b) Rolling friction

(c) Normal reaction

(d) Coefficient of friction

. A uniform (constant) force is acting on a body

which of the following quantity is constant?
(a) Kinetic energy

(b) Velocity

(c) Momentum

(d) Acceleration

53. Which of the following is equal to one Light

Year?

(@) 1.496x 10 metre
(b) 3.08x 10 °metre
(c) 9.46x 10> metre
(d) None of these

(d) QRSP

49. and it led to rapid economic development

(P)
the Industrial Revolution
Q)
transformed the British
(R)
society in a fundamental manner
(S)
The correct sequence should be
(@) SPRQ
(b) QPRS
(c) QRSP
(d) SRPQ

. while some live to eat and drink

(P) Q)

many do not have enough in luxury
(R) (S)

The correct sequence should be

(@) PSRQ

(b) PRSQ

(c) SPOR

(d) RQSP

Part-B G.S.

51. T3Tdeh =0T F STTERa® W9 T Fgd o-
(a) HrETT =Y
(b) Frefae =T
OEIEE R RIGIER
(d) =refor [T

. el fiT o 9= (397 a0 A9 F -t
Trfer fRa w2t & -

ORICEEEL

(b) =T

(c) &

(d) =z

. 1 wTer A9 9 ® & e aeew g2
(a) 1.496x 10''metre
(b) 3.08x 10°metre
(c) 9.46x 10> metre
(d) =% & 1< 7L
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54. Which one of the following has different number

of molecules? (All are kept at normal
temperature and pressure)

(a) 3 gram of Hydrogen

(b) 48 gram of Oxygen

(c) 42 gram of Nitrogen

(d) 2 gram of Carbon

. Combination of one volume of nitrogen with
three volumes of hydrogen produces

(&) one volume of ammonia

(b) two volumes of ammonia

(c) three volumes of ammonia

(d) one and a half volumes of ammonia

. Malaria parasite is a
(a) bacteria

(b) protozoa

(c) virus

(d) fungus

. Itis difficult to kill viruses because they

() consist of tough protein coat

(b) are very small in size

(c) lack cellular structure

(d) spend a lot of time inside the host’s cells

58. With reference to biodiversity, which of the

following statements is/are correct?

1. Species richness and high degree of
endernism are important criteria for
identifying biodiversity hot spots.

Species diversity is highest in the tropics and
decreases down the poles.

Biodiversity conservation may in in situ as
well as ex situ.

Select the correct answer using the code given

below.

(@ lonly

(b) 2 and 3 only

(c) 1,2and 3

(d) 1 and 3 only

. In which one of the following, methanogens, i.e.,
methane producing bacteria are not present?

(a) Rumen of cattle

(b) Aerobic environment

(c) Anaerobic sludge

(d) Excreta of cattle

54, fAmrferfea & & forees sropsti it qear fa=r 8 2
(Tt T FTETT qTIETT AT 9T 9 T@T

. ETSSISI o I SATAAAT o T ATl %
U AT o GATAT o I graT g

(a) STHTAT T UF qTAT
OELUERIEE R e
OEEUERIEXIEEIE

(d) srTi==T T 2% AT

. HATHT U qeSal g
(a) Sfram
ORIBEIE
(c) fammy

(d) FaF

. ToaTorst 7 ATeAT FieA § Fifw T

() FiEA T Fle T fFaae a9ar1 g

(b) MF H Iga e &

(C) AT HIAAT il FHHT

(d) HSTaTe T HITAHTSAT 6 TT Tgd THT
for

59 AfEgar F Hed § |, Mufafea § 9 w59

AT/ FIT Bl 8/a?

1. SSITQAT f Jfe 3 3g =¥ Hr
vefsw Sa [Afaedr gie =i it 7299
% for wemal wreE €
SSITAT ol AT EaT SO0 wfcaer | Taer
STfere gIeT g i Al o 1= "edt STt
2l

3. Sa-Tafaedr §e TUTETT a7 a7g]
fRafa & g1 gehar 21

= 3 T 2 FT TN F qET 9

(a) FaT 1

(b) & 2 3T 3

(c) 1,233

(d) Fae 1377 3

. Feferfaa & @ fras s sraiq w/rae
OREIRRIEIR:T]

(b) T ATATECT

OEEIREIREIEE

(d) FerforIT T T
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60. Which of the following statements about DNA

is/are correct?
DNA is the hereditary material of all living
organisms.
All segments of DNA code for synthesis of
proteins.
Nuclear DNA is double helical with two
nucleotide chains which run anti-parallel.

. DNA is also found in mitochondria.

Select the correct answer using the code given

below.

(@) 1,2and3only

(b) 3 and 4 only

(c) 1,3 and 4 only

(d) 4 only

. The time taken to complete one oscillation is
called-

(@) Time period

(b) Period of oscillation

(c) Period of retardation

(d) (a) and (b) both

. The temperature of Delhi of a day in summer is
45°C. its value of Fahrenheit will be-

(@ 113°F

(b) 45°F

(c) 105°F

(d) None of these

. On which of the following the time period of
simple pendulum depends?

(@) Length

(b) Mass

(c) Energy
(d) Amplitude

. The dimensional formula of compressibility is-
(@ [ML'TY
(b) [ML'T]
() [M'LT]
(d) [ML*TY]

60. DNA % am & fsferfea & & # /1/& Fa 92t
2z
DNA =+t sfifera sfiai it g |t 21
TIEE & G40 & forw DNA #12 % 7+t @)
AT] DNA 31 FEaaerEs gaara 9
LT TA_T & S IA-AHTH L Tt g
4. DNA mrzarmifeear & «ff qram Smar 21

= f&U T e T YA F G IAL AT
(@) FaeT 1,2 3T 3

(b) =<t 3 =M 4

(c) a1, 3T 4

(d) ¥ 4

. T T 2T F3A § o[ 907 ] FHgl S1aT 8-
(@) e Fwrer
(b) v Frer
(c) #HaTF1T

(d) S (a) i (b) AT

. THT % Toreft fomr ot faeetT =7 araere 45°C g
HARTEE § THHT A9 gHIT-

(a) 113°F

(b) 45°F

(c) 105°F

(d) =8 & FrE 7RI

. T dre®  (Simple Pendulum) T sradater
Aot § 7 g v i Fxar g2

(a) FaTS

(b) s=EHTT

(c) 3=t

(d) smamH

. FT=TqT FT 39T graT &-
(@ [ML'T7]
(b) [ML?T]
(©) [M'LT7]
(d) [ML*T7]
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65. When there are no external force, the shape of a

liquid drop is determined by-
(a) Density of liquid

(b) Surface tension of liquid
(c) Viscosity of liquid

(d) Temperature of air only

. The S.1. unit of stress is-
(@ N

(b) N-m?

(c) Nm?

(d) J

. The acceleration due to gravity ‘g’ at centre of
earth is-
(a) 0m/s?
(b) 9.8 m/s?
(c) 4.9 m/s?
(d) None of these

. Which one of the following species is not
capable of showing disproportionation reaction?
(@ Clo~
(b) Cloy
(c) Cloz
(d) Cloz

. Which one of the following statements is
correct?
(a) Covalent bonds are directional
(b) lonic bonds are directional
(c) Both covalent and ionic bonds are directional
(d) Both covalent and ionic bonds are non-
directional

. Match List | with List Il and select the correct
answer using code given below the Lists:

65. T TS aTg] I HIALT Tal af, Al &9 & 4T &
AR At grar -
(a) == % = T
OECERCETIER-E
(c) == T eFTHaT FIT
(d) amg & arT gIT

. Sfdae 1 S.|. AT graT 8-
(@ N
(b) N-m?
(c) Nm?
(d) J

. I F g T [HeA T @0 ‘g’ T A gl -
(a) 0m/s?
(b) 9.8 m/s?
(c) 4.9 m/s?

(d) =19 & *rE T

. Fraferfaa & & # ff yonfa srqamage wfabrar
T # Faw 987 872

(a) Clo-

(b) ClOz

(c) Clog

(d) Clo;

. Tt & & 9 a7 w9 82
(a) FEEATSTF S97 fFomeHT g
(b) smafae dee fRemews 2ra &
(C) FEHATSTH ST ATAF TAT Foe fRermews g
(d) FEEATSTF AT AFAF I7 4 Fe-fFemens
g

T | w1 & et s sie gfeat
= {3 T Fe T YA A G 39T AT

List | (Elements) | List Il (Highest Valency)

= | (T3) =T || (SFIH FATSTHAT)

A. Sulfur 1. Five

B. Phosphorus 2. Six

C. Lead 3. Two

1. at=

D. Silver 4. Four

Code:

A
(a) 2
(b) 2
(c) 3
(d) 3

A
B.
C
D
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71. The LPG cooking gas contains propane and

71. TS THTE 49 § g2 & & § IO 37T 52

butane as the constituents, A sulfur containing
compound is added to the LPG, because
(@) it lowers the cost of production
(b) it enhances the efficiency of LPG
(c) it facilitates easy detection of leakage of the
gas
(d) it assists in liquefying hydrocarbons

72. Which of the following gave the idea of

Constituent Assembly for India?
(@) Simon Commission

(b) Rajaji Formula

(c) Cabinet Mission Plan

(d) Wavell Plan

73. The number of members included in the

Constitution Drafting Committee was:
(a) Seven

(b) Nine

(c) Eleven

(d) Thirteen

74. Match List-1 with List-Il and select the correct

answer using the codes given below:

g g, TAUTSIT | TF Tohe Ih AT HATAT

ST &, FATR

(a) T ITUTEA o ANTT I FH FLAT &

(b) =g TSIt Y ZeraT T TETAT

(c) =g i\ % TATa 7 SrET gaqT A9 i
g I8 Far g

(d) T2 BTSSRI Fl G FA § qgraar
FLATE

72. fmferfea & & e wea & foro sfaem aar

FT fa=me faam?

(a) ATSHT FHTAT

(b) TTSTTS{T HieeT

(c) hfereie fHer FrsmT

OEEEEIEL

73. gy weter gfufa § entaer gt $ e
ofF:
(@) ara
(b) =T
(c) e
(d) 9=

74, -1 F HI-1l § FHIT SHitore i 7= fao

List I (Constituent
Assembly Committee)

List 11 (Chairman)

T T TN F Tel IO M

. Steering Committee

1. Sardar Vallabhbhai
Patel

CelRGIECIGRE ]
)

AL 11 (757e)

. Fundamental Rights
Sub-Committee

2. Dr. Rajendra
Prasad

A. HHTAT JAf

1. FEE ToAqqTS
T

. Union Constitution
Committee

3. J.B. Kripalani

B. wifers rfaere
IT-Aafa

Tfo TNIE THTE

. Provincial
Constitution
Committee

4. J.L. Nehru

C. @9 "faam qEfa

ST, FHATHT

D. g "faem=

Code:

A
() 2
(b) 1
(c) 2
(d) 1

75. Which among the following is not a basic feature

of the Constitution of India?

(a) Fundamental rights

(b) Independence of judiciary

(c) Federalism

(d) The unquestioned right of the Parliament to
amend any part of the Constitution

qfafa

STATELATT A=

FIE:

A
(@) 2
(b) 1
(c) 2
(d) 1

. Referfed & & 19 qd & diaem it g
fareroaT Agt 82
ORUREEIEEIRS

(b) =aTIraTiersRT F T
(OR:EELES
(d) wfererm=r = foreft T foee & Heras we &

forT g = AfEare st
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76. Match List-1 with List-11 and select the correct
answer using the codes given below:

List | List 11

76. THT-1 T FHI-11 § FHTT AT &7 A= fiw 1w

T T TANT T qol 3L AT

A. First Deputy- 1.V.T. Krishnamachari
Chairman of
Constituent
Assembly

= |

= 11

A. g a9TF
T IYTETET

1. 9.E. FoE=TET

. Originally the only | 2.J.L. Nehru
Congress Member
of Draft committee

B. I &7 ¥ HHETET
GIEINERCTIES
FUT TG

2. ST A1 Ag®

. Member of 3.K.M. Munshi
Constituent
Assembly

representing
Rajasthan’s

Princely States

. TSI Y
et &
gfafafaea F#
FTAT HTALTT 7T
F T

3. .U, Hqeft

. Chairman of Union | 4.H.C.Mukherjee
Constitution
Committee

D. &9 |fagm

Code:

A B
@ 1 4
(b) 4 3
(c) 1 2
(d) 3 4

77. Match the following

ofufa = srewer

EACH

A
@ 1
(b) 4
(c) 1
(d) 3

. Frmfrfem i gafm fifm

List I (Provision of the | List Il (Source)
Constitution of India)

AT | (=T &
GIECICEARICEIE)!

=T (=)

. Amendment of 1. Constitution of
Constitution Germany

A. TTEYTT FT T

1. STHHAT T qiagma

. Directive 2. Constitution of
Principles Canada

B. Az forgia

2. FATST FT Gierem

. Emergency Power Constitution of
of the President South Africa

C. Tgufa
STITARTA T 9TF

3. ferr syt T
GIERIE]

. The Union-State Irish Constitution
Relation

D. 99-15% 994

4. srater gfeygm

Codes:

A B
@ 1 2
(b) 3 4
(c) 1 4
d) 3 1

78. Which of the following are considered as parts of
the basic structure of the Indian Constitution?
1. Republication and democratic form of
Government
Secular character of the Constitution
Division between Fundamental Rights and
Directive Principles of State Policy
4. Federal character of the Constitution
Select the correct answer using the codes given
below:
(@ 1,2and 3
(b) 2,3and 4
(c) 1,3and 4
(d 1,2and 4

FIeE:

A
(@ 1
(b) 3
(c) 1
(d) 3

. Feferfera ® & fFe ST it i g

HY=AT T ZFT HET 14T 82

1. TG 3T HLHTT FT ATRAI A F F5Y

2. HTeTH T gH AT FreT

3. Hifersw srferrt s oo % fifa Ao
frgrat & fiw e

4. GteT & g =7ty

= fIU T e T IR F qEF 3L AT

(a) 1,233
(b) 2,334
(c) 1,334
(d) 1,237 4
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79. ‘Right to Equality’ finds a place in the 79. "THTAAT o TR T dfaemT 7 Fre ?ﬂﬂviﬁa ED

Constitution Under
1. Article 13
2. Article 14
3. Article 15
4. Article 16
Select the correct answer from the codes given
below:
Codes:
(@ land2
(b) 1,2and 3
(c) 2,3and 4
(d) All the four

80. Match the following List 1 with List Il and select

the correct answer using the codes given below
the list:

List I (Article of | List Il (Content)
the Constitution)

AT TET AT S
1. sg=== 13
2. AR 14
3. A== 15
4. AT==3 16
f=r faw T w2t | HET 3L A =TI A0
EOECH

(a) 13f%2

(b) 1,2 =3
(c) 2,3%T4
(d) =sft ==

80. frsferfara &=t | &1 = 11 & FgHferd HS T

AT & = &7 T e T TN T Tl 3T
AT

A. Article 54 1. Election of the president of
India

B. Article 75 2. Appointment of the P.M.
and council of ministers

List | (fferem=r | List 11 (FTHR(T)
T ATR)

A FI592 54 | 1. WG & TP & A1

C. Article 155 Appointment of the

governor of state

D. Article 164 Appointment of the C.M.
and council of Ministers of

a state

B. Aq=2 75 | 2. T+ ®eAT T AR &
CIERIRCES

C. I =3 155 | 3. T  TroaqqT T fgf<h

Composition of
Legislative Assemblies

D. 9 =% 164 | 4. qgeaw=t &t A v vs
=7 F gRgRue

Codes:

A B
@ 1 2
(b) 1 2
(c) 2 1
d) 2 1

. Which of the following is/are listed among the
Directive Principles in Part-1V of the Constitution
of India?

I. Equal Pay for Equal Work

I1. Uniform Civil Code

I11. Small family norm

IV. Education through mother tongue at primary
level
Code:

(@ 1, lland Il

(b) land Il

(c) land Il

(d) I, land IV

5. fererm Fsrer i Fv=

EOCH

A
(@ 1
(b) 1
(c) 2
(d) 2

. et o o #17 9a & 9fag™ & arr-v

e fgial ¥ g=a3 2/e?
. Tr8T & forw g aae

. THTT AR | iga

1. Zrer gRaEw ges

IV. SIT2H < 9% ATGATIT & ATeqH & foreqr
EIEH

(a) I, 1l s 1

(b) 131l

(c) Nzl

(d) 1, 11 T IV
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82. Match the following List 1 with List Il and select
the correct answer using the codes given below
the list:

List I (Schedule of | List Il (Content)
the Constitution of
India)

82, Formferfira wt 1 7 7t 11 & wafor A i

AT & = f&7 0 FT T TA0T T T2l 3T
AT

ﬁl-(w%ﬁﬁaﬂ =T 1 (AT
R L))

A. 9" Schedule . Provisions regarding
Panchayati Raj
Institutions

A, 9Ff ST 1. GHATIAT TTT HEAT3AT
*F Hag § graeTT

B. 10" Schedule . Provisions regarding
land reforms
legislations

B. 107 stqat . I T AT F

gaer | gTagTT

C. 11™Schedule . Provisions regarding
administration of tribal
areas

C. 11% sraqg=tr . ST &A1 6
JTH o HaeT |
FIERITE

D. 6" Schedule . Provisions regarding
the distribution of
powers between the
Central and States

D. 6% sTeET . %% ST AT F q A
orf<rat & faaeor &
oy o IraeT

Provisions regarding
the disqualification on
ground of defection

. TAGEA & AYTL 9T
AT F HAg T
FIECIGE

Codes:

A B
@ 3 1
(b) 2 5
(c) 3 5
d) 2 1

. Match List-I with List-11 and select the correct
answer by using the codes given below:

List I (Provisions) List Il (Articles)

HS:

A
@ 3
(b) 2
(c) 3
(d) 2

83. TAT-1 FT FHI-1l ¥ FHIT Sitorw i 9= faw 1w

T2 T TINT F Hal IO M

A. Prohibition of 1. Article 22
discrimination on the
grounds of religion, race,
caste, sex, place of birth

List | (SITererm) List 11 (3=2%)

. Prohibition of employment |2. Article 15
of children in factories

A. g, TAa9, T, o[ T, 70 (L s =ee 22
TITT F ATUTT UL ASHTT FT
IGEES

. Protection against arrest 3. Article 24
and detention in certain
cases

B. we@l # agi & A 2. sg=aE 15
FT TTaorer

C. T 9THAT § FRwRr siv 3. dq=uq 24
ESECEUERTC R

D. Abolition of untouchability | 4. Article 17

D. FEY9AAT FT IHAA 4. FI=se 17

Codes:

A B
@ 1 4
(b) 2 3
(c) 2 4
d 1 3

. In which Article, the provision of reservation of
Scheduled Caste and Scheduled Tribes to
Panchayat has been given?

(@) 243 A
(b) 243 B
(c) 243C
(d) 243D

FIE:

A
@ 1
(b) 2
(c) 2
(d) 1

. AT ST 3T A= ST 0 G §
ATTEATT T T [ =g § (<3T T47 82
(@) 243 A
(b) 243 B
(c) 243C
(d) 243D
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85.

Match List-1 with List-11 and select the correct
answer by using code given below:

List I (Article List Il (Provision)
of the
Constitution)

85. -1 &l FHI-11 § FHTT AT &7 A= fiw 1w

T T TANT T Tol SAL AT FIF 90

List | (&faem= | List 11 (STa4T)

FT TT=9R)

A. 215 . Transfer one Judge form one

High Court to another

B. 222 . Powers of superintendence
over all courts by the High

Court

A. 215 1. UF 3IF ATAAT & AL
=TT TT F T F UF AT Fr

- .

2. I ATATAT FIT HHT ATATAAT
= srefteror 7 arRat

C. 226 . Power of High Court to

issue certain writs

D. 227 . High Court to be court of

Record

3. wfauw fiz I #7237
RIPIEREIRET

Codes:

A C
@ 4 3
(b) 2 3
(c) 1 3
d) 4 3

. The Constitution of India guarantees freedom of

thought and expression to all its citizens subject to
1. Implementation of Directive Principles

2. Fundamental Duties

3. Right to Equality

Select the correct answer using the code given
below.

(@) 1and 2 only

(b) 2 and 3 only

(c) 1only

(d) 1,2and 3

. Which of the following Fundamental Rights is/are

available to non-citizens?

1. Equality before Law

2. Right against discrimination

3. Equality of Opportunity

4. Protection of Life and Personal Liberty
Select the correct answer using the code given
below.

(@) lonly

(b) 1and 4 only

(c) 1,2and 4

(d) 2and 3

. The forms of oaths or affirmations for which of

the following officials are mentioned in the third
schedule of the Indian constitution?

1. The Comptroller and Auditor General

2. The Chief Election Commissioner

3. The Chief Justice of a High Court

4. The Attorney General

Select the correct answer using the codes given
below:

(@ land 2 only

(b) 1,2 and 3 only

(c) 2,3 and 4 only

(d) 1and 3 only

4, IF FATATAT FT AT ~FTATAT

_bﬁ;‘.l.

FIS:

A
@ 4
(b) 2
()1
(d) 4

. T &7 ST orqe g9y ATt & = e

SfSrerh it Taa=ar i T <ar g

1. M=o rgiar 1 wrteaad

2. Hifor e

3. FHTAAT T ATARTT

= {2 10 Fe &7 9= F "Bl 39T T
(a) FaA 1 3T 2

(b) FaeT 2 AT 3

(c) Fae 1

(d) 1,233

. Referfera & & it & | stfaer -

AT o forw 3uerse g/8?

1. A & THE AT

2. qEATH * aeTE At

3. FFET AT FHAT

4. ST 3T SARETT Tqa=ar it qeeT

= 3 T 2 FT TN F qET 39 g
(a) FaeT 1

(b) FaT 1 AT 4

(c) 1,234

(d) 23f% 3

| AT ST A A e et i

T e e & foro oo 97 wfast= % =91 &0
et T T 22

1. 9= TF AEe@rIe®

2. {&T I A<h

3. U g ~ATITAT % q&T ~ATATeTer

4. HETATIATET

= faT 10 Tz /T YA F AGT 3L AW
(a) FaA 1 AT 2

(b) & 1, 2 30T 3

(c) Fa 2,337 4

(d) FaeT 137 3
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89. Match List-1 with List-Il and select the correct

89. THT-1 &1 THI-1l § FHTT AT &7 A= fRw 1w

answer using the codes given below:

List I (Provisions in the List Il (Source)
Constitution of India)

T T TN T qol 3L AT

. Emergency Provisions | 1.Ireland

=T | = I
CusEEIECIEERIECIC BRG]

. Fundamental Rights 2.The UK

A. STITARTA T T 1. AMATAE

. Parliamentary System 3.The United States
of America

B. Hifers® st 2. 70 Fo

. Directive Principles of | 4.Germany
State Policy

C. HE=TT JoTTeAT 3. HY<h 1T
FHTTRT

Codes:
A
@ 4
(b) 2
(c) 4
d) 2

. If the usual rule of calculation of time were

applied for the extremes of Gujrat and Arunachal

Pradesh, then approximately time:

(@) at Gujarat would be ahead of that at
Arunachal Pradesh by about 3 hours

(b) at Gujarat would be ahead of that at
Arunachal Pradesh by about 2 hours

(c) at Arunachal Pradesh would be ahead of that
at Gujarat by about 3 hours

(d) at Arunachal Pradesh would be ahead of that
at Gujarat by about 2 hour

. Which of the following passes and locations is/are

wrongly matched?
Zojila and Burzil - Jammu & Kashmir
Bara Lacha La and Shipki La - Uttar Pradesh
Thaga La, Niti Pass and Lipu Lekh -
Himachal Pradesh

4. Nathu La and Jelep La - Sikkim

(@ land2

(b) 2and 3

(c) 3and 4

(d) 1,2and 3

. The 'Chilka lake region' lies in between the deltas
of:

(a) Ganga and Mahanadi

(b) Godavari and Krishna

(c) Mahanadi and Godavari

(d) Krishna and Cauvery

D. Tr57 & Hifa fAgersk aea | 4. STHAT

HIe:

A B
@ 4 1
(b) 2 3
(c) 4 3
d) 2 1

90. If< THF T TUET % A HITH & [T 3T

FETAA TRLT o FALH ST [T A0 6T
STAT &, AT FRTRT T3
(2) T[T | ARV TS & AMAT 3 5 AR

T
(b) T[T | AFVMTASA TS & AMAT 2 5 AR

@Tﬂ'

(C) S=UMTAA T H [T H I AT~ 3 5
ST g

(d) =M= T H [T H IHH AOAT 2 5
ST E

. RafefeT & & :F & a9 $fiT w1 Toq gHted

&/8?
1. ST 3T o7 - ST 37 FeHiT

2. ST ATHAT AT A< Ty A7 - ITT J=er

3. o &1, {1 &7 3% oy o - R gaer
4, ST AT AT ST A7 - i

(a) 132

(b) 23T 3

(c) 334

(d) 1,2 3T 3

. o =t g e seeret & it feora 22

(a) TIT AT WETHET
(ORIEERERERII
OR:EREUEESINEHER
(d) FOIT T FTALT
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93. Which of the following are true with respect to

93. WTAIT THE T T3 & a9 § Mefafea & 9

the Indian Peninsular Plateau?

The southern plateau block is formed mainly
of granites and gneiss
The Deccan lava plateau is an elevated
tableland consisting of horizontally arranged
lava sheets
The Malwa plateau dominates the Vindhyan
scarps forming the northern flank of the
plateau
The troughs of the Narmada and the Tapti are
interposed between the Vindhyan and the
Satpura ranges.

(@ 1, lland I1I

(b) land Il

(c) I, 1, Iland IV

(d) I, Hland IV

. Which one of the following gives the correct

sequence of Himalayan peaks in the direction east

to west?

(a) Dhaulagiri, Kanchenjunga, Makalu, Mt.
Everest

(b) Kanchenjunga, Makalu, Dhaulagiri, Mt.
Everest

(c) Makalu, Dhaulagiri, Kumaun, Namcha Barwa

(d) Namcha Barwa, Kanchenjunga, Mt. Everest,
Nanda Devi

. Match the following:
Peaks Mountain range
A. Gurushikhar 1. Zanskar
B. Dhupgarh 2. Satpura
C. Doda Betta 3. Nilgiri
D. Nanga Parbat 4. Vindhya
5. Aravalli

Codes:

A D
(a) 4
(b) 3
(c) 4
(d 5

. The Tropic of Cancer passes through:
(a) Bihar

(b) Gujarat

(c) Uttar Pradesh

(d) Orissa

. Which Indian state has become the first state to
begin organised cultivation of dalchini?

(a) Punjab

(b) Sikkim

(c) Himachal Pradesh

(d) Uttar Pradesh

FIe AT T 82

1. =it Tt @ 4ed ®9 § I975e T Ha &
T E
TS T | SAATEAT ATAT ATe< gl &
HTAAT T T5T¢ & 3 911 9% grat 8 S
BT % IALT AW T HH0T T &

4. FHET AT ATHT F FT Her ofiw gaqET
TATHTAT & 1= AT § I gT 21

(a) I, Il s 1

(b) 13l

c) 1, 11, N sz IV

(d) 1, 11 3/% IV

. ety & & #19 9& | atse far 9 Rares

&1 AT T AGT FH <aT 82

() ETATRILT, FESHI, 7, A3 TaLee
(b) FES, AT, STATHIL, ATIE TALEE
(C) AT, GTATHIRT, FHTS, ATHAT ILaT

(d) TH=T AT, FAASIIT, T3S TGLES, AaT <41

.ﬁaﬁ%mﬁﬂwﬁ:

Fifeat Taq gadr
A. TEIET 1. ST
B. 4IE 2. =T
C. SreT agm 3. AR
D. 7917 99 q 4, Fex
5. TaAT

e
A

@ 4

(b) 3

(c) 4

(d) 5

o T AT 2

(a) o=
(b) TS
(c) ST T=eT
(d) ST

. I AT AT T TT ITAAAT T TAST BT &
FIA ATAT TgaAT 5T I TAT 87

EOREIE]

(b) e

ORELIEERES

(d) 3T Ta9T




www.trishuldefenceacademy.in

NDAMT-| 22

98. Consider the following statements regarding

98. FEH X MHE 21T THE & dae §

Andaman and Nicobar Islands:
It enjoys equatorial climate
This is the only place in India where a
volcano is located
This is the only place in India where coral bed
is found
Which of the statements given above is/are
correct?
(@ 1,2and 3
(b) 1and 2
(c) 2and 3
(d) 1only

. Which one of the following groups comprises of

States sharing borders with Chhattisgarh ?

(@) Andhra Pradesh, Jharkhand, Maharashtra and
Orissa

(b) Andhra Pradesh, Bihar, Maharashtra and
Uttar Pradesh

(c) Bihar, Maharashtra, Jharkhand and Orissa

(d) Andhra Pradesh, Jharkhand, Uttar Pradesh
and West Bengal
Match the following:

Tribes Area

A. Angamis 1.Meghalaya

B. Todas 2.Tamil Nadu

C. Moplahs 3. Kerala

D. Birhors 4. Nagaland

E. Khasi 5. Madhya Pradesh

Codes:
A

@ 4

(b) 5

(c) 4

d) 2

101. Match the following:

Tourist Place State
A. Amber(Amer) Fort 1. Uttar Pradesh
B. Auroville 2. Pondicherry
C. Buland Darwaza 3. Karnataka
D. Gol Gumbaz 4. Rajasthan
5. Madhya Pradesh
6. Tamil Nadu

oot et oe o= i

1. THH HAE SAarg 9 STt g

2. IZ AT HT UHHATT T g gl Sararqar
g g
g AT T THRATT €19 § Sl JIT ae 0T
ST €

FO¥ U U AT F F FAT-A1/E T8 8/

(@) 1,2 373

(b) 13T 2

(c) 233

(d)%h_olFfrl

. Feforfaa # @ e 998 § See & a1 {7

ATEAT FXA AT 1T LT 82

(a) SET T=eT, ARG E, AT 3fT IS T

(b) srer wreer, g™, WETTy ST ITY w9

(c) fog™, AgrTy, AEsE T ST

(d) e T=oT, TGS, IAL T<9T 3T TS ST

eferfea w1 e 3
TSI

A. Y 1. 99T
B. aI=T

4. TTSTEITT
5. W J29T
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102. In which of the following towns does the LMT

(Local Meridian Time) show the greatest
deviation from the 1ST (Indian Standard Time) ?

102. fA=forfaa & & o 982 & LMT (J9T0 T 719
THA) Tqad ATAF TZITT grar g 1ST (AT

(@) Delhi

(b) Cochin
(c) Mumbai
(d) Kohima

103. Port Blair is situated in:
(a) North Andaman
(b) South Andaman
(c) Middle Andaman
(d) Little Andaman

104. Match the following:
City River passing through the city
A. Nasik 1. Krishna
B. Surat 2. Cauvery
C. Ujjain 3. Godawari
D. Vijayawada 4. Shipra
5. Tapti

Codes:

A
@ 3
(b) 4
(c) 3
(d) 4

105. 'Sal'is a very important tree of:
(a) Tropical dry deciduous forest
(b) Tropical rain forest
(c) Thorn forest
(d) Alpine forest

106. Match the following:

List-1 List-11

. Deccan Traps . Late Cenozoic

. Western Ghats . Pre-Cambrian

. Aravalli . Cretaceous Eocene

. Narmada-Tapi . Cambrian
Alluvial deposits

Pleistocene

Codes:
A
@ 3
(b) 3
(c) 2
(d) 1

qTe 787 Y) F A=
(a) feeett

(b) Fr=h=

() HaE

(d) =rigaT

103. U< sg¥ fRurq &
(a) ST F=H
(b) =faror s
(C) | FSHTT
(d) forfeer siswm

104. fRferfea w1 e w3
T H [ qTAT q4T
A. TITEF 1. ForT
B. T3@ 2. FaLr
C. 3= 3. MrETa
D. fasrTarsT 4. for
5. qTHT

FIe:
A

(@) 3

(b) 4

(c) 3

(d) 4

105. 'OT' UF AT a0 9T &
(a) SO I TOTITT I
(b) SeurRfEaET auT a9
(C) FieaTT ST
(d) sTeaTET a9
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107.  Consider the following statements in regards
to ‘Swadeshi Movement’:

1. The movement had its genesis in the anti
partition movement against the British
decision to partition of Bengal.

2. The movement did not witness any
participation from women and rural people.

3. The movement was confined to the region of
Bengal only and failed to outreach other
regions of the country.

Which of the statements given above is/are

correct?

(@) 1only

(b) 3only

(c) 1and 3only

(d) 2and 3 only

108. The Act Prohibiting Child Marriages was
passed in 1891 due to the efforts of
(a) Ishwarchandra Vidyasagar and Jyotiba Phule
(b) Mahadev Govind Ranade and Jyotiba Phule
(c) Keshab Chandra Sen and Behramji Malabari
(d) Keshab Chandra Sen and Mahadev Govind
Ranade

109. Give the correct sequence of the following
events by using the codes given below:
1. Hunter Report
2. Home Rule Movement
3. Jallianwalla Bagh Masscare
4. Rowlatt Act
Codes:

@24,3,1
(b)2,3,4,1
(©21,3,4
d1,23,4

110.  Consider the following statements and select
the correct answer from the codes given below:
Assertion (A): The Congress boycotted the
Simon Commission.

Reason (R): The Simon Commission did not

have a single Indian member.

Codes:

(a) Both A and R are true and R is the correct
explanation of A.

(b) Both A and R are true, but R is not the correct
explanation of A.

(c) Aistrue, but R is false.

(d) Aisfalse, but R is true.

107. ‘wEeeft stidre & wey § Ao st o f=w

Eos

1. &rer & e F et Saer % s Frase
EREIE REE R
TH AT § WigATaAl S JTHIT AT 01 Hls
qRiErT 781 2@t TS
ATIIAT FaeT ST o &3 T gl HITHT 2T T
F9T o ST &A1 OF UgAd § [l T

S fU U AT § F FA-A1/A T8 88 ?

(@) Fae 1

(b) =t 3

(c) Faer 13T 3

(d) Faer 2 3% 3

108. arer faarg Mo sfafaas 1891 # v samat &
FTLOT g fhaT a7 9r?
(a) Tav=w MR i sarfaar gor
(b) wETea Mfdw TFTE 3fT SATTAET For
(C) Ferer g T 3T AZLTHSIT ATATITLS
(d) rerer 95 T T HETad Tag AT

109. fRwferfea wearer &1 <= Ru 10 e &1 39
FCH Tl B AT
1. gex fare
2. THHET ARAT
3. S FTETAT ITRT ALHG Y
4. Tfee TFE
TS
@) 2,4,3,1
(b) 2,3, 4,1
(c) 2,1,3,4
d 1,2,3,4

110. fRferfea Foet ox o= &3 i #= faw 70 Fet
H Tgl 3L T TI9 L

FAT (A): FEF T TIEAT FHIAT T ASH1T AT

FTOT (R): AT2HA FHYe § UF AT 56T T8l

T

FIE:

(@) Asit RIFTaT 3T ‘R’ ‘A’ fragr
TEAT g

(b) Asiz RIAT T g, afha ‘R> ‘A’ #ir T2t
AT Tl gl

(c) Ade g, e R e gl

(d) A s\ g, dfed R 977 )
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111. Consider the following statements:

1.The Gandhi-Irwin Pact 1931, placed the
Indian National Congress on an equal footing
with the British Indian Government.
2.The participation of Muslims in the Civil
Disobedience Movement was less than that of
the Non-Cooperation Movement.
Which of the statements given above is/are
correct?
(@) 1only
(b) 2 only
(c) Bothland?2
(d) Neither 1 nor 2

112.  Which of the following statements in regard
to the 3" June Plan are correct?

1. The successor governments would be given
dominion status.

2. There was a provision for the Boundary
Commission to determine boundaries of the
successor states as India and Pakistan.

It was mandatory for India and Pakistan to
remain within the British Commonwealth.

Select the correct answer using the codes given

below:

Codes:

(@ land 2 only

(b) 2 and 3 only

(c) 1and 3only

(d) 1,2and 3

113. The most penetrating radiation out of the
following-
(@) X-ray
(b) p-Ray
(c) o-particle
(d) y-ray

114. A galvanometer can be converted in to a
voltmeter by connecting-
(a) A low resistance in parallel
(b) A low resistance in series
(c) A high resistance in parallel
(d) A high resistance in series

115. The effective resistance between P and Q-
(a) 30 7
g 2Q 3Q
(b) EQ
© S0
(d) 150

111. FeferiEad FaT 9 T=e #:3

1. wieft-zzfeoe O 1931 9 AT g
FIUH FT TTEer AT TEHTL o Tl 9T
EIRCEIRERIT
AT AT AETAT § AL T
ARMERT SHZANT AEA ol TAAT H
off)

ST XU T FAAT § T FIA-A1/E qB1 8/8?

(@) FaeT 1

(b) = 2

(c) =T 1 3% 2

(d) TAT 13T T LT 2

112. TwforfEad & | 9 97 99 3 S 6f JoH=T &

e | gl 82

1. STACARTLT TLRT HT SITUTAAT FT TAT
o= sTom
AT 30T ITTReaTe o &9 § IR
Tt it Tt i At w7 & foro =y
AT o o ue g o

3. T 3T uTfehedT & forw fafeer wrgdeesr &
AT TgAT A o

ﬁ%ﬁﬁwaﬁ—'mwﬂq@wgﬁﬁ

() amrlaﬁu
(b) &t 2 3T 3
(c) FaA 13 3
(d) 1,233

113. TAwferfaa & & ga srfers e Afror-
(a) X-Fereur
(b) p-febor
(c) o-=T
(d) y—fReor

114. UF feaqdeT H SIEHL ATeeH et § FaaT o7
AT 2-
(a) FHTIAY § UF = g
(b) =ft w9 & v = wfawre
(C) THTHTAY FH | T 3g Traarg
(d) =ft 9 & U 3g Tfaag

115. P 3T Q & &= WATAT TTa<re-
(8 30 "
(b) =0
© F0
(d) 150
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116. To make a permanent magnet is used-

(@) Steel

(b) Softiron

(c) (a)and (b)
(d) None of these

117. Two condensers of capacitance C; and C,
respectively are connected in series. The
equivalent capacitance of the system is-

(@ G+ Cz
(b) C1 -
(©) C1CZ

C1+Cy

C1Cy
@z

118. Velocity of light in a medium is equal to-
(a) Velocity of light in air/refractive index
(b) Refractive index/velocity of light in air
(c) Velocity of light in air x refractive index
(d) Velocity of light in air/ velocity of light in
vacuum.

119. Dr. Reddy advice to me to require a spectacles
of power —0.25 D. The far point of my eye is-
@ 3m
(b) 2m
(c) 5m
(d) 4m

120. The splitting of white light in seven colours by
the prism is known as-
(@) Spectrum
(b) Dispersion
(c) Refraction
(d) None of these

121. In spherical mirror, the relation between u,v
and f is-
i
(8 f ==
(b) f = M
(C) f — u+v

uxv

A f=—

122. A Carnot engine takes in 3000 kcal of heat from
a reservoir at 627°C and gives it to a sink at 27°C.
The work done by the engine is
(@) 4.2 x 10° Joule
(b) 8.4 x 10° Joule
(c) 16.8 x 10° Joule
(d) None of these

116. =TT FFF AT o ToIT AT 3T ST -
(a) T
(b) FTH TeT
(c) (a) ¥ (b)
(d) =H & F1E TRl

117. A Faia Rt aiar 5o ¢, 997 ¢, 2,
ONRH H SIS ST g1 e 7 o 91T &-
(@ C+ G
(b) C; —
U%%
() C1C2

118. ToRHT ATEA| § TRTT T a7 gIaT &-
(2) ATT F THTL FT 0/ATATATH
(b) STOFCATH/ATT H THTLT T AT
(C) AT | THTA T o X ATAAATH
(d) AT H THT AT 37/ ATT H THT FHT AT

119. =t. Ygr T894  —0.25 D 9=k % 99H Hf
ArELTHRAT & o1 qeA1g &1 .’ o 1 g T
T

(@ 3m
(b) 2m
(c) 5m
(d) 4m

120.  d o1 7 TS| gIT a1q it § foafeq g
&1 FeAT FgATdT g
(a) FviTe
(b) =T fargrgur
(OERELE
(d) =9 7 F1 R0

121, ey T B9 w, v A7 FF g6 2
@ f=15
0) f =17

u+v
mfﬁz
©d f=—

122. U I 399 3000 K cal Fearamreg #a o
627°C 9T AT & FTATT  27°C Bl 9 gIT
ERIR eI
(a) 4.2 x 10° Joule

(b) 8.4 x 10° Joule
(c) 16.8 x 10° Joule

(d) =9 T FE TE
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123. Internal energy of a gas decreases when-
(a) It absorbs heat
(b) The change is cyclic
(c) The change is adiabatic
(d) None of these

124. The force of attraction between the molecules of
the same substance is called as-
(a) Cohesive force
(b) Adhesive force
(c) Force of gravity
(d) None of these

125. Dingko Singh, an Asian Games Gold Medallist,
who died recently, was associated with which one
of the following games?

(@) Swimming
(b) Boxing
(c) Archery
(d) Gymnastics

126. Which one of the following is not a specified
Sub-Mission of the National Livestock Mission?
(@) Livestock development
(b) Pig development in the north-western region
(c) Fodder and feed development
(d) Skill development, technology transfer, and
extension

127. Who won the ‘World Athletics’ Woman of Year
Award 2021?
(@) Anju Bobby George
(b) Rani Rampal
(c) Smriti Mandana
(d) Deepa Karmakar

128. Recently Prof. Arvind Singh was in the news
regarding?
(a) To tackle global climate change problems
(b) Made climate satellite
(c) Won Nobel Prize for Physics
(d) Developing Bio-fuel incubator

129. Who among the following has won a gold medal
at the International Folk-Art Festival in Dubai
recently?

(&) Malini Awasthi
(b) Raghu Dixit
(c) Sumit Bhale
(d) Rabbi Shergil

123. 9 T SAAE HoIT Fedl g Ta-
(a) =g AT AT FLH
(b) wadw T B
(c) wfada wgeH g
(d) s & & 1< T

124. Tk U &1 TG F AV F A= ST a FF FAT 2,
I FET SATAT -
O EEEEEES
(b) smEST T
(c) = a=
(d) =TH F F7E 7L

125. TIOATE Gl o €0 &k fawrar fEvar fig
Srargadrd e grmar | Rafofaa
o @ & 2 A2
(a) J¥ThY
(b) HeaTST
(c) draTstt
(d) Forg=Tfee®

126. fReferted ® & #i g aeee e #1 Afce
ST-THerT T 87
(a) werere e
(b) ITAL-Tf%Rft & | qere A
() =TT 3T =TT A
(d) #Yerer faswrer |, STerent gearaeer |, 3T
e

127. 98 UIATEHT AT AF 242 Fare 2021 e
STrar?
OESCIEIEIE]
(b) TTHT TrHATT
(c) T HamaT
(d) =T9T FHHTT

128, 77T B 3 o el fifg ey i # =11t # o0
(2) &P STerar i FwETEt & f %
ferg

(b) =TT Soag 3STE
(c) wtfaeht = forT T EEhTe Star
(d) S TgF TAFIT FT o

129. T &1 § A< § FALLIT AH-FeAT Agcdqd §
freferfea & & e =3t a2 Star &2
(a) wTferT sraeft
(b) T <iferd
(c) Ffer et
(d) vt ot
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130. Gabriel Boric, 35, will become which country’s

youngest president and one of the world’s
youngest political leaders?

(a) Argentina

(b) Peru

(c) Chile

(d) Bolivia

131. Who has been appointed as the Chairman and
Managing Director of Air India Ltd. recently?
(a) Vikram Dev Dutt
(b) Chanchal Kumar
(c) Ajay Singh
(d) Soma Mondal

132. Recently Prime Minister Narendra Modi has
announced to celebrate 'National Startup Day'
every year on which date?

(a) 26th December
(b) 14th January
(c) 28th March
(d) 16th January

133. Prime Minister Narendra Modi recently laid the
foundation stone for the Major Dhyan Chand
Sports University in
(@) Meerut
(b) Udaipur
(c) Pune
(d) Rajkot

134. Maharaja Bir Bikram (MBB) Airport, recently
seen in the news, is situated in:
(@) Tripura
(b) Maharashtra
(c) Madhya Pradesh
(d) Odisha

135. Recently seen in the news, the Indu Malhotra
committee is related to:
(&) NEET PG Counseling
(b) Recent alleged security breach of Prime
Minister’s Punjab visit.
(c) Farmer agitation
(d) Covid-19 pandemic

136. Which among the following is the first-of-its-
kind State-level bird atlas in India?
(a) Karnataka Bird Atlas
(b) Goa Bird Atlas
(c) Tamil Nadu Bird Atlas
(d) Kerala Bird Atlas

130. 35 AT AT AT ToheT 9T o T AT
gAY AT % qa9 a1 T i Jare §
T TF A2
(a) sTSteET
(b) T=
OREEL
CIEIEUERI

131. grer gt ¥ v iy forfies & sreaer siw way
Ao & =7 § e s T @ 22
OREELECEKS]

(b) ==t FHIL
(c) s firg
(d) |TET g

132. T &f § T4TT #ft A% Al 7 g€ a1 e
TG T T AT foae’ 77y i =roor 6
22
(a) 26 fFEax
(b) 14 SHa<T
(c) 28 7T
(d) 16 SHaH

133, WeTe WAt AYE Tl |7 g af 7 CRCSES
SATEE TITed IAATHEr i sremfarar v
(a) 75
(b) S=qT
(c) T
(d) TTSTRE

134. T &1 § Fa<i | LT HgrrsT S1¥ fawH
(TeTe) gaTs et R 2
(a) Pz
(b) #HETY
(C) T&ET T=29T
(d) Frfeem

135. T 2 & TaXi § ol =g Heg AT AiH{d T dae
BRGNS
ORGEFCIRIEIR ]
(b) STerTr WAT ¥ UST ATAT K FTHAT FHAT
AT Ioe o |
OREEIEEEEE]
(d) Frfas -19 FgmTT

136. Mwferfea & & i 9T § ST q4g T TgaT
ST T TET Tead 82
(a) FATeE Teft TaeH
(b) TraT geft veeH
(c) THATS TefT Ueere
(d) et geft veeH
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137. Which ~ country  recently  declared an

‘environmental emergency’ on the coastal area hit
by the oil spill?

() Peru

(b) Argentina

(c) Brazil

(d) Uruguay

138. The Sela Tunnel Project is located in which
state?
(&) Arunachal Pradesh
(b) Manipur
(c) Assam
(d) Mizoram

139. Rafael Nadal claimed his record-breaking 21st
major title by defeating whom in the Australian
Open final 2022?

(a) Roger Federer
(b) Novak Djokovic
(c) Daniil Medvedev
(d) Rod Laver

140. Late Milena Salvini of France who was awarded
the Padma Shri Award in 2019 is related to which
field?

(a) Kathakali dancer
(b) Hockey player
(c) Tennis player
(d) Artist

141. A beam of light from air enters in to water.
Which of the characteristics of light will not
change in water?

(@) Wave length
(b) Velocity

(c) Amplitude
(d) Frequency

142. Where is statue of Equality located in India?
(a) Hyderabad
(b) Ahmedabad
(c) Tughlakabad
(d) Secundrabad

143. What is the rank of India in Global Innovation
Index-20217?
(a) 48"
(b) 47"
(c) 46"
(d) 49"

137. grer & ® fore 3or 7 91 Ama & wariEd qdg e W
"qATFLOT ATATART ST 6T 872
(@ 7=
(OIEEEEL
(c) TSt
(d) ==

138. AT T TRATSAT e 7 § o g2
(@) STEOTTA TROT
(b) wfore
(c) sEw
(C)REEILE:

139. T =T o AEL o e wreaer - 2022 & &
T WiE dre 2147 o=t faara sraw a1 fhar?
(a) T HeX
(OIBIEEEIEIEE]

OEEEEEECEE]
(d) 7= 7w

140. whiw & Tt ffemT arfeadt g 2019 # =7 =t
ERTT | FEATET 6T 3T, 7 o6 & | "ated 672
(a) ForeweAT AT
(b) et fer=st
(c) =fow fest
(d) F=TRT

141. AT & THT T G qIAT H T9T FIAT | T H STRTET
FT HIT-HT A0 TRATTT 7T G2
(a) T&TaEd
(b) =T
(c) smamH

(d) smafa

142. AT § w&=F AF THorel Fgl 2 g2
(a) g=mme
(b) sEHaTaTR
(c) TrerFTaTE
(d) FreTaTs

143, 7T TATAIT T299-2021 § ST 7 3 F47 872
(a) 487
(b) 47 =t
(c) 46
(d) 495
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144. The magnitude of light passing through eye is

controlled by-

(@) Iris

(b) Cornea

(c) Pupil

(d) Crystalline lens

145. A ideal heat engine exhaust the heat at 77°C
whose efficiency is 30% it should take the heat at-
(@) 127°C
(b) 217°C
(c) 227°C
(d) 327°C

146. Recently which state government has declared a
fish named ‘Katley’ as the state fish?
(d) Kerala
(b) Mizoram
(c) Goa
(d) Sikkim

147. The famous Indian tigress popularly known as
‘Collarwali’ recently passes away at which Tiger
Reserve?

(a) Pench Tiger Reserve

(b) Kaziranga Tiger Reserve
(c) Rajaji Tiger Reserve
(d) Corbett Tiger Reserve

148. Where is the headquarters of SWIFT (Society for
the Worldwide Interbank Financial
Telecommunication)?

(@) New York, USA
(b) Zurich, Switzerland
(c) Brussels, Belgium
(d) Paris, France

149. Who among the following won the 2021 Nobel
Prize in Chemistry?
(a) Bejamin List
(b) David W.C. MacMillan
(c) Giorgio Parisi
(d) Both Aand B

150. The fifth edition of India-Japan Maritime
Bilateral Exercise JIMEX was held in the
(@) Indian Ocean
(b) Bay of Bengal
(c) Arabian Sea
(d) South China Sea

144, AtE | TI97 FLd TR 7 g0 g B

145, T ST FTAT 914, ST 77°C 9T FHOAT ARt

FT TET 8, T 24T 30% AT 8| THHT FHTAT AT
-

(a) 127°C

(b) 217°C

(c) 227°C

(d) 327°C

146. BT &1 | 7 T XX 7 ‘eI ATHE HSAT
T ST AT HTT 6T 52
() FZ
(b) Fo=TH
(c) raT
(d) ferfEw

147. WG AT aIfe S| Fiaarr & 9| T
ST SITAT 8, T &1 o H e 21ee ot |
EECRARIEY
(@) = =iz o
(b) FTOT =12 e
OREIEIEEUESTSE]

(d) #ide e e

148. SWIFT (HTHETSEN FiX T FocdTee 3eiad
RIS T A TFRFE A heT) T HEATAT Fgl 27
(8) =LA, TUAT

(b) T, Fagsve
(C) gav?ﬂ, ai«@qu
(d) o=, wie

149. feforfea § 7 & wmew ffemw o
e T T 82
() FSTTHT AT
(b) fae s . =i
(ORERUERIRIEET
(d) (a) ¥ (b) =T

2021 =1

150. ATA-STIT FHaT fGaefts sreme
qiEET HEROT  H st T T em
(2) Bz weram™
(b) RTTeT ¥ WTET
(SRS KIRIES
(d) =feror = AT

JIMEX =1
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